o
[N

o
N

<3 @> (rad)
o
=
(6)]

....................................

Ratio
=
T

TPlpoT (PCA

e

...............................

]
=

1

—11_original
_TT_newbranch

TT original_pLess
TT _newbranch_plLess

0004
lelelele
<4

1

s F 5 :
~k s s
a" I : :
=_ 0.5 B AR A B N e
o . .
o I : :
\% L : :
O+ | ------- l ----- b
-+t
PR (LN 3| -
: *: ¥ <ha§
ottt
2 E ... T I
o 15 : gl ]
0.9F-----1 FrE A
0.8;—-------- FHFHHA A1 SARELEEEREE
0_72_1 Tl ] :2 ,
10 1 TPl[:g)T (PCA t%)obeamlin%)o

1

2 3
TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


